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Question No. 1 is objective type question.

ﬁmﬁm%mnﬁqwﬁi‘vﬁ

Instructions -

It consists of Section (A),
Section (B) and Section (C). Each Section

has 5 questions of | mark
each. Visually impaired students follow the instructions as given with
the questions.

(if) mmzﬁaﬁaﬁaﬂmﬁuwﬁlmmﬂzﬁﬂﬁﬁa

&1 (997 I A sfuwam w=-dm 30 v B)
Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer i
30 words)
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Question Nos. 7 to 10 are short answer type questions. Each question

i i - i rds.
carries 3 marks. (Maximum word-limit of each answer 13 50 words)

¥ FU 11 Q 14 T oY IT0 U ¥ 1wy W4 3feR 3Mmsifed
T (e SW ! Iffushan w-wim 75 v ®)

Question Nos. 11 to 14 are short answer type questions. Each question
carries 4 marks. (Maximum word-limit of each answer is 73 wor@s)
T FEIF 15 TH 16 D TG T ¥ | wdw F W 5 I A T ._
(Yo IR i SAUHTH WR-HHE 700 O &)

Question Nos. 15 and 16 are long answer type questions. Each question
carries 5 marks. (Maximum word-limit of each answer is /00 words)
WeH HHE 17 T 18 Ad S0 W9 ¥ | 7o T W 6 ik IEfed € |
(W I T AYHad TS-9IHT 750 TS ®)

Question Nos, 17 and 18 are long answer type questions. Each question

carries 6 marks. (Maximum word-limit of each answer is /50 words)

WR-1  (@UueE-37) wE fawey g fafay [1x5=5]
(Section-A) Choose and write the cqrrect option :

3T HTH

(37) 7=

(&) &

(&) 9
() I |

(@)

Abiotic component is :

(a)
(&)
(©)
(d)

Soil

Water

Ailr

All of the above

https://www.cgboardonline.com



Which of the following was not found in Dinosaur Era?
(a) Ginkgo

(b) Cockroach

(¢) Elephant

(d) Fem

(ifi) diehet fr o | forae ©F sgas 2
(37) CqHg (%) C,H,
(¥) NaHCO; (3) CaSO,

Which of the following is a polymer of polythene?
(@ CgHg (b) C,H,
(¢) NaHCO; (d) CaSO,

(iv) IFe T = T & wy a2 o, =iifes
(3N o T sonfvas i §
(&) I WHORT #1 FR B Sl &
(®) =" %% 0§ H W @
(%) o tfeer urn & o s €

Noble gases does not react with other elements, because :
(a) They are mono-atomic gases

(b) The size of their atoms is very small

(c) The outer shell is filled completely

(d) They are found in abundance

S-6B
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(v) @ geaeEn H fea ofw o1 IwE e s 2

(&) Iaad d"

(9) I9a 9

() raad U™ 396 " qE

(%) |FdenEae o

Which type of lens is used in simple microscope?
(@) Concave lens

(b) Convex lens

(¢) Both concave and convex lens

(d) Planoconcave lens

(Tve-=) e e =t g wife [1x5=5]
(Section-B) Fill in the blanks :
(i) S foera i pH A —— TR |
pH value of neutral solution 1S .
(if) T 1 SI AHE —— WA ¢ |
SI unit of heat is :
(i) @ T T I HE A —— gfet g foran S ? |
The hormone that regulates the amount of sugar in the blood is
(iv) THgIHE —— WEE
A magnet has poles.
(v) C,HoClH fhams W —— 2
Functional Group in C4HCl is :

&
S-68B
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wd-1  (@us-w) St ey sifeu (1x5=5]
(i) <A - (@) ST3ATH
(i) TR - (b)) T=A
(iii) - (¢) R AT
(iv) o9 I &ma - (d) e s
(v) Tifteafas a3 - (o) Ty HeEd
(Section-C) Match the following :

(A) (B)

(/) Tomato - (a) Diopter
(i) Hematite - (b) Tansley
(iif) Sun - (¢) Oxide ore
(iv) Power of the lens —~ (d) Oxalic acid
(v) Ecological system - (e) Nuclear fusion

WYH-2  SIqHee @ Een fRE 5 § 2 [2]
What is called scavengers food chain?

UgA-3 i el i fRR FEd € 7 & 39 <ifee | [1+1=2]
What is renewable energy source? Give an example.

WA-4 SR F i iR qegdfien & A 3 i 7 T o w2 [
Why is pickle (Achaar) not kept in the utensils of copper and aluminium?

w-5  faemEn g’ (2]
What is vinegar?

w6 Il g R wE e 2]
What is called ‘energy currency’?

S-6B P.T.O.
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W -11

[6]
CGS TSNS R AT S mw s i §qaan &2 [2+153]
What are units of heat in C.G.S. system and S.I. system? What is the

relation between them?

< & 9 IwEm fafau [1+1+1=3]

Wnite three uses of lenses.

T st = & 2 fagq 9= =1 fagr= fafaa [142=3]

What is electric generator? Write the principle of electric generator.

TS Y TGt gF SETE 1 STHl HY WA R FN I3 I 761 & 2 & B
fafaa | [1%+1%4=3]
What is the effect of increasing human population on the number of

tigers? Write two reasons.

=1 Sl § | 39 a7 I e e wEy SR w9t § qun 39

TR o fafaw . . [2+2=4]
() Mg (T F&A 12) I Cl (RE] & 7)

(i) Na (900 F&AT 11) 91 K (0] §&A1 19)

Identify the element that has the larger atomic radius in the pairs

given below and write its reason also :

() Mg (atomic number 12) or Cl (atomic number 7)

(if) Na (atomic number 11) or K (atomic number 19)

srerar
OR

fr=1 wall @l =i we A Yefa ¥ YR W 9u% HIfET| T
TarEties 9m 4t fafau . [1+1+1+1=4]

() CuSO4 (ify NaHCO,
(i) NH,CI (iv) CH;COONa

S-6B
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T 1-12

U -13

17]
Distinguish following salts on the basis of acidic and basic nature.

Write their chemical names also :
(i) CuSOy (i) NaHCO,

(i) NH4CI ~ (iv) CH;COONa

et 3TE URE ¥ H w1 g it fafae | et #@iw 9fa &
farg 701 F FROT SR TR IWM 2 7 B feor was % faw w4

g7 [2+2=4]

Write the chemical equation for preparing Plaster of Pans. For which

property of Plaster of Paris, doctors used it to fix bones fracture?

Ha4qr
OR

THA T 1 THEE T F 39% & 39am fafa |

Write chemical equations for the synthesis of Teflon and two uses of it.

AR 1 I FRR et I R 2 IR e 91 W arqe wh fea ?
I G H I F A w0 fafg [1+1+2=4]

Who is called the father of genetics? On which plant he used his
experiment? Write two reasons for the selection of that plant.

3rerar

OR

[T 3R wogfa @err &0 § ? 386X |ied q09ms |

What are homologous and analogous traits? Explain with example.

S-6B
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[8]
W14 Afiren 3R sttt wor =R si frfan [1+1+1+1=4)

Write four differences between sexual and asexual reproduction.
Herqr
OR
ot 3R forr & 9w sim fafag)

Write four differences between artery and vein.

A¥I-15  THRI K Wee F71 ¢ 2 §9R1 Wi e fafee o ifm star § 98 @
3T A | | [14242=5]
e gfesntua faemd fag & o w frem 3t s e 6
What is reflection of light? Write the law with diagram and give any

two examples in daily life.

Note : Visually impaired students will describe the law in place
of diagram.

rerar
OR

gf sifafe Tads frd wed § 2 fRtw i@ & W19 THEIST ) TEET I
fafaw |
Fe: gheatud faared fator amra & W@ U IR fad)

What is total internal reflection? Explain with ray diagram. Write
conditions for it.
Note : Visually impaired students will write example in place of

ray diagram.
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(9]
wa-16 (i) Wﬁ#%ﬁwmﬂﬁﬁwm:mmﬁmmﬂ

gifag |

(i) ue fagd 9wy &, 10 Q gFly F R w5 e w5 fHaarR
ARIYa o i @ 1 g @ w8 arelt uw Fi o st [2+1+2=5]

Fz: gftesntua faemedt svitery darem § fae aftoy & o w
FHad g for
() Define series combination of resistances. Draw electric circuit for it.

(ii) In an electric circuit, a voltage of 5 volts is applied across

resistance of 10 Q. Calculate current flowing through it.

Note : Visually impaired students will write only formula in

place of circuit diagram of series combination.

arerar
OR
() ot = fm fafEg @@ vV qu1/ & o= a6 Eifea|
(ii) Torehaie-ser &0 § ? 39 97 §a ¥ fafan) .
We: gfemfua faeredd ¥ qur 7 & &9 016 & &I T TE 6
Yehta for@® )
(/) Write Ohm’s law, and plot the graph between V" and /.

(ify What is kilowatt-hour? Write its value in joule.
Note : Vi.sually impaired students will describe nature of graph

in place of the V and I graph.

P.T.O.
k https.//www.cgboardonline.com



g¥1-17

)

()
(i)

(9)

(i)

()

(if)

[10]
ﬂﬁqaﬂtﬁﬁmﬁﬁqﬁﬂt%ﬁgm

ﬁﬂwﬁﬁmﬁémmﬁmmfﬂﬁw:
(@) e F SE™ F WY tffrar
(b) Hicwam ot 5@ ¥ Wy afufrar

Write three differences between roasting and calcination.
Write chemical equations for the following reactions :
(a) Reaction of iron with water vapour

(6) Reaction of calcium with water
https://www.cgboardonline.com
Haqr

OR

Fret sfufiraiell o) of i

(@) Na+3H, 450 °C-500 "C‘_
200 atm

(b) Zn(s) + 2NaOH — T > o + Hyt

THTATH O & STUR W Y1 Td 37e1g A a7 iR fafau)
Complete the following reactions :

0
(@) Ny+3 H, 450 °C-500 °C
200 atm

() Zn(s) + 2NaOH E3—"-:--- .............. +H,1

...........

[3)

[1 '/z+l‘/5=3]

[1%4+1%=3]

[3]

Write any three differences between metals and non-metals

with respect to their chemical properties.

S-6B
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(?)
(i)

(i)
(if)

(i)

()

(id)

[11]
Mamsﬁﬁ%mamﬁ-@mm| [1%+1%=3]
ﬁwaﬂﬂﬁmﬁﬁmmmw~@w%ﬁﬁq; [1va+1Y2=3]
(a) Wided faman
(b) U= T

Write any two plant hormones and their one function of each.
Define the following and write one example of each :

(a) Reflex action

(b) Voluntary action

arerqr
OR

A T Q i e dfdt & T 7 3% w-uw W fafEw

e &1 wRnfirs = wele =1 T w fafan
(a) ~igT™
(b) T

Write names of any two endocrine glands of human and their
one function of each.

Define the following and write one function of each :
(a) Xylem
() Phloem
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